22 237m3/s 138,000kw
5-1-1
1 ( () 49 m/s S14. 9. 4
2 ( () 29.7 n¥s T11. 5. 6
3 ( () 24.2ns S 24. 10. 31
4 () 19.48 n¥/s T14. 12. 2
5 () () 15 m¥/s T14. 12. 2
6 ( () 5 /s T11.10. 9
7 () 1.67n¥s T 9. 7. 14
8 () 1.67n¥s T 9.10. 23
9 () () 55ns $33. 1.20
10 ( () 4.58ns T13. 6. 17
11 ( () 2.9 /s T13. 6. 17
12 ( () 2.54n¥s $30. 9. 26
13 () () 2.92ns T14. 12. 2
14 () () 2.45n%s T14. 11. 11
15 () 12.0ns S 63. 10. 28
16 () 8 m/s Sa4. 2. 27
17 () 23ns si11. 2. 17
18 () 20 m/s $36. 6.15
19 () 25 m/s $36. 3.17
20 () 1.95n¥s S34. 8. 12
21 () 1.44ns S55. 8. 19
22 () ( ) 0.139 n¥/s T 9.11. 3
237.499 m’/s
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2,400ha

5-1-2
1 () 6.4ms T 9. 4.20
2 ( ) 0.8451 m¥/s S 55. 8. 19
7.2451 m¥/s
7.7m%/s
mé/s 0.25m%/s
5-1-3
1 () () 5.0 m¥/s S 3. 4.19
2 ) () 2.064 m/s T15. 8.2
3 ) ( ) 0.667 m/s S13. 5.3
7.731 m¥/s
5/200 0.252m*/s
23
5-1-4
1 ( ) 0.252 m¥/s S 44. 3. 18
0.252 m/s
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47

5-2-1

15.4

1,044.1

Sec
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